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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2017 C L«X, 2018 (December-2017 & June-2018) 

B◊¨K˜Eı YÁPˆy‘] ( Elective Course ) 

c˜O◊Tˆc˜Áa ( History ) 
aä] Yy (7th Paper) 

Modern Europe : EHI-7 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ (Time : 4 Hours) 

Y…SÔ]ÁX  f 100 (Full Marks : 100)  

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% (Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

(Eı) 1789 aÁ„_Ã[˝ Z–ıÁ„≥aÃ[˝ ae◊[˝W˝ÁX a\ˆÁÃ[˝ EıÁ^ÔÁ[˝◊_Ã[˝ 

]…_ÓÁÃ^X EıÃ[˝”X* ae◊[˝W˝ÁX a\ˆÁ [˝«„L¤ÁÃ^Á ÿëˆÁUÔ Ã[˝l˘Á 

EıÃ[˝„Tˆ EıTˆFÁ◊X aZı_ c˜„Ã^◊ªK˜_ ? 

(F) Ã[˝ÁLÁ V`] ªJÙÁ_Ôa 1830 aÁ„_ Z–ıÁ„≥a L«_Ác˜O ◊[˝Y¿„[˝Ã[˝ 

LXÓ EıTˆFÁ◊X VÁÃ^› ◊ªK˜„_X ? L«_Ác˜O ◊[˝Y¿[˝ c˜O=„Ã[˝ÁY„Eı 

EıTˆFÁ◊X Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝◊ªK˜_ ? 

(G) LÁÃ[˝ ◊•Tˆ›Ã^ %Á„_ÁEıLÁâ¯ÁÃ[˝„Eı "]«◊N˛VÁTˆÁ LÁÃ[˝' [˝_Á 

EıTˆFÁ◊X ^«◊N˛^«N˛ ? 

(H) 1871 aÁ„_Ã[˝ YÃ[˝[˝Tˆfi EıÁ„_ LÁ]ÔÁX›Ã[˝ YÃ[˝Ã[˝Ár—Ù X›◊Tˆ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) 1789 aÁ„_Ã[˝ ZıÃ[˝Áa› ◊[˝Y¿„[˝Ã[˝ Y“E ı◊Tˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(F) ÂX„YÁ◊_Ã^„XÃ[˝ YTˆ„X =Y•›„YÃ[˝ ^«„à˘Ã[˝ \…ˆ◊]EıÁ Eı› 

◊ªK˜_ ? 

(G) c˜OTˆÁ◊_Ã[˝ BEıÓ %Á„≥VÁ_X Y“◊y‘Ã^ÁÃ^ È[˝„V◊`Eı aÁc˜Á^Ó 

EıTˆFÁ◊X Y“„Ã^ÁLX›Ã^ ◊ªK˜_ ? 
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(H˜) LÁ]ÔÁX›Ã[˝ ◊`îÁÃ^„X Ã[˝Á‰r—ÙÃ[˝ \…ˆ◊]EıÁÃ[˝ ]…_ÓÁÃ^X EıÃ[˝”X* 

(I¯) 1871 aÁ_ ÂU„Eı 1914 aÁ_ Y^Ô‹ôˆ a]Ã^EıÁ_„Eı 

"aÁ∂ÉˆÁLÓ[˝Á„VÃ[˝ ^«G' [˝_Á EıTˆFÁ◊X a◊PˆEı ? 

(ªJÙ) 1917 aÁ„_Ã[˝ Ã[˝”` ◊[˝Y¿„[˝Ã[˝ EıÁÃ[˝S C Zı_ÁZı_m◊_ 

◊[˝‰`¿bS EıÃ[˝”X* 

3* ae◊l˘ä ªRÙO›EıÁ ◊_F«X ( Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO )f 6 × 4 = 24 

(Eı) ZıÃ[˝Áa› ◊[˝Y¿„[˝ Ã[˝”„`ÁÃ[˝ \…ˆ◊]EıÁ 

(F˜) c˜O=„Ã[˝ÁY›Ã^ `◊N˛ a][˝ÁÃ^ 

(G) Â]ªRÙOÁÃ[˝◊XF [˝Ó[˝ÿöˆÁ 

(H) GÓÁ◊Ã[˝[˝∑Qˆ› 

(I¯) EıÁî◊XEı a]ÁLTˆ‹óˆ›GS 

(ªJÙ) EıÁc˜OLÁÃ[˝ ◊•Tˆ›Ã̂  =c˜O◊_Ã^Á] 

(ªK˜) XÃ^Á =Y◊X„[˝`[˝ÁV 

(L) Â_◊XX* 



 QP Code : 18UT29EHI7 QP Code : 18UT29EHI7 2  

B.A.-11611-W   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.A.-11611-W  

English Version 

1. Answer any two questions : 20 × 2 = 40 

 a) Evaluate the activities of the Constituent 

Assembly of France in 1789. How far was it 

successful in protecting the interests of the 

bourgeoisie ? 

 b) How far was King Charles X responsible for 

the July Revolution of 1830 in France ? 

How far did the revolution influence 

Europe ? 

 c) How far is it justified to consider Czar 

Alexander II as ‘Czar the Liberator’ ? 

 d) Discuss the foreign policy of Germany after 

1871. 

2. Answer any three questions : 12 × 3 = 36 

 a) Discuss the nature of the French 

Revolution of 1789. 

 b) What was the role of Peninsular War in the 

downfall of Napoleon ? 

 c) How far was foreign support necessary in 

the process of unification of Italy ? 

 d) Evaluate the role of the state in 

industrialisation of Germany. 

 e) How far is it justified to term the period 

from 1871 to 1914 as the ‘Age of 

Imperialism’ ? 

 f) Analyze the causes and effects of the 

Russian Revolution of 1917. 

3. Write short notes on any four of the following :  

   6 × 4 = 24 

 a) Role of Rousseau in the French Revolution 

 b) Concert of Europe 

 c) Metternich system 

 d) Garibaldi 
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 e) The Utopian socialists 

 f) Kaiser William II 

 g) Neo-Colonialism 

 h) Lenin. 

    
 


